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 1 Step Stoichiometry
Directions:  Complete the following worksheet showing work when applicable (i.e., during any conversion problem).   Balance equations that are not already balanced.
1.  Given the following reaction:   3BaCl2 + 2K3PO4 ( Ba3(PO4)2 + 6KCl
a. Write the mole ratio between BaCl2 and K3PO4.

b. Write the mole ratio between KCl and BaCl2
c. Write the mole ratio between KCl and Ba3(PO4)2 
2. Given the following equation:   _____Na + _____MgCl2 ( ____NaCl + _____Mg
a. What is the mole ratio between NaCl and MgCl2?

b. How many moles of NaCl are produced when 5.74 mol of MgCl2 react with Na?

3. Given the following equation:  Al2(SO4)3 ( Al2O3 + 3SO3
a. Write the mole ratio between Al2(SO4)3 and SO3.
b. How many moles of Al2(SO4)3 are required to produce 10.3 moles of SO3?

c.
How many moles of O2 are produced from 7.19 mol of Al2O3?    
4. Methane (CH4) and sulfur (S8) react to produce carbon disulfide and hydrogen sulfide, a liquid often used in the production of cellophane. 

a.
Write the balanced equation.
b.
Calculate the moles of CS2 produced when 1.50 mol of S8 is used.

c.
How many moles of H2S are produced?







